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DIPLOMA ENGINEERING — SEMESTER - « EXAMINATION - WINTER - 2016

Subject Code: 335005

Enrolment No.:

GUJARAT TECHNOLOGICAL UNIVERSITY

Subject Name: Structure - |

Time: 10:30 AM to 01:00 PM

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. Each question carry equal marks (14 marks)
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Explain with examples (1) Scalar quantity and Vector quantity
(2) Centroid and Centre of Gravity

GELERWL UL AHstAL (1) A2 AL A w(Eu AQ

(R) el Bog Al HEA Jo0
Define force. State the characteristics of force with neat sketch.
well caltvaul AU, oldllell (QlAYU clat@sdl gl A& Ul

Explain different types of beams with sketches.
QY ystetl ol ugld WA AH AL
Explain different types of Supports with sketches.
QY ystRetl 251A wg(A WA UMl

OR
Explain different types of loads with sketches.

QAU ysiRell ek vugld A AmedAl.

Explain with the figure (1) low of polygon of forces (2) low of triangle of
forces

(1) O ol HESIQL ol (A2, (R) AL ol (A2t (A WA UMl

(1) Define Moment and Couple
(2) Define Composition of Force and Resolution of Force.

(1) W Yol Al (o o ol caitu=ul UL

(R) WOlloj A6t WA WOl of [Aeteet ofl cautuvul L.

OR
Explain with the figure (1) Lami’s theorem (2) Law of Parallelogram.

(1) AHIAR ol UGPSRl ol 2 () Al oll YR gl A AHs1C.

State the conditions of equilibrium of Coplanar non concurrent forces.
WAH AU AouHl dlotl AHAE ofl ARA R

What is a “frame”? Give its classification.
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A Simply Supported Beam AB has span 10 m carries load of 50 KN 70 KN and
90 KN at a distance of 2 m, 5 m, and 8 m respectively from A. Calculate
Support reaction of A and B.

As ALEL A 2sAcl ollH AB 10 Hl2R cicll B. Aol UR U0 (503,
90 (302). A €0 (3o3y., otl 2AQL o 6lH UR UefsN 2 M, u M, ua

¢ Hl, st bR A2sL L AL ®. 25t Aual B ol ulAlsu 0.

OR
Explain perfect frame and an imperfect frame with the help of sketches.

oot - Wl AR FH wglAoll el unesl.

An electric light fixture weighing 150 N hangs from appoint C, by two strings
AC and BC. The string AC is inclined at 60° to the horizontal and BC at 45° to
the vertical. Using Lami’s theorem, Determine the forces in the both strings.

LU0 oJ2el coatoll SASES oMK A £33l AC Wl BC sl C (olgal
cd2sldct 8. AC alldos AWl A& $0° oll WAl Aol BC Grellur AULEl
AU ¥U all WA B, cltdl ot YR glRl ol ELR|Histll ¢l 0.

Four forces equal to 40 N, 30 N, 20 N and 10 N act at a point making angles of
20°, 40°, 60° and 80° with the horizontal. Find the resultant of the forces.

¥0 03], 30 o3, 20 3., U 10 o3 all Yel <ol UR ol UHEA%
U R0°, ¥0°, 50° ol ¢0° ol VRUHM Halld & Al L slolatl UReuHl

oole] HeU 2.

Find the centroid of dam section with top width 3M ,bottom width 6M and
height 9M with one face vertical

A5 IH oll WISBDES] oJ3ccl Ml (g N ¥ Boll GURe{l uslous 3 L.,

olA(l udoue s L Gue ¢ Hl B,

OR
Two tensile forces100 N each acting at an angle 45° between them. Find
magnitude and direction of the resultant.

100 o?jeat all Acll A ARl Wl Asollost WA ¥U° Wl oletld B.

URouHl v e Aofl (o el

Three forces 10 KN, 20 KN and 30 KN are acting along three sides of an
Equilateral triangle in clockwise direction. Find the Magnitude and direction
of the forces.

20 (5 o)., 20 (3 o). WA 30 (5 o2f.oll 2AQL U WafsN AHGUY A5
ofl g UR uslaldetl siete(l (Bl cdl 8. al dollett uReuHl
WOle] YL A (Rau 0.
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